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Simple point

<FeatureTypeStyle>

<Rule>

<PointSymbolizer>

<Graphic>

<Mark>

<WellKnownName>circle</WellKnownName>

<Fill>

<CssParameter name="fill">#FFoooo</CssParameter>

</[Fill>

</Mark>

<Size>6</Size>

</Graphic>

</PointSymbolizer>

</Rule>

<[FeatureTypeStyle>



* <FeatureTypeStyle>

. <Rule>
S . | . . . <PointSymbolizer>
t with strok

Impie point wi STroKe D oo
. <Mark>
. <WellKnownName>circle</WellKnownName>
. <Fill>
. <CssParameter name="fill">#FFoooo</CssParameter>
. </Fill>
2 <Stroke>
. <CssParameter name="stroke">#000000</CssParameter>
. <CssParameter name="stroke-width">2</CssParameter>
. </Stroke>
. </Mark>
. <Size>6</Size>
. </Graphic>

. </PointSymbolizer>




Point with styled label
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<!'DOCTYPE html>
<htmlx>

<head>
<meta http-equiv="Content-Type" content="textfhtml: charset=utf-8":>
<meta name="viewport" content="width=device-width, initial-=scale=1.0, maximum-scale=1.0,
<meta name="apple-mobhile—web—-app-capable" content="vyves">
<titler0penlLayers Google (v3) Layer Example</title>
<link rel="stylesheet" href="..fthemefdefaultfstyle.css" type="textfoss">
<link rel="stylesheet" href="style.css" type="textfoss">
<script sro="http:f/maps.google. o mapsSfapifis?r=3& rzensor=rfalse" »</scripts
<script sro="..flibjfOpenLayers.js"></sScript>

<script sro="google-v3.js"></scriptx>
</ head:>

user—-scalahle=0" >

<hody onload="init{}"=>

ThT Id="title"-Google (vJdy Layver Lxample-<, hi-
<diwv id="tags">
Google, api key, apikey, light
<fdive
<p id="shortde=sc":>
Demonstrate u=se the Google Maps v3 API.
</ p>
<div id="map" class="smallmap"></div:
<div id="docs":>
<pr<input id="animate" type="checkbox" checked="checked"Animated
zoom (if supported by GMaps on your device)</input></p>
<p
If vou use the Google Maps v3 API with a Google laver, vou don't
need to include an API kev. Thi=s layer only works in the
spherical mercator projection. See the
<& href="google-vr3.js" target="_ bhlank'>google-v3.3s source<;ar
to =ee how this is done.
</ px
</dive

</hodys
</html>
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<html:>
E{head}
<title>WMS Viewer</title>
<script type="textjfJavaScript" src="..flibf0penLayers.js"></scriptc>

[ <script type="text/JavaScript'>
val map;

var minx = 100.32905253000007; o °
var miny = 13.492544942000052 » Amallsn1sNInuAURLLARNIS

var maxx 100,.93857203000003 ;
var maxy 13.955269005000059 =
var bounds = pew OpenlLavye

LAANNA

var option
map = new OpenlLayers.Map('map element', option ):

Q
var province wms = mew OpenlLayers.Layer.WHM3({"Admin Awmphos BEE", ﬁ]quﬂﬁ
fhrep://localhost 8080/ geoserver/veekl /yms" , {layers: 'wveekl: Admin Amphoe EEKK'},{}):

map . addLayer( province wms) ; Layer QAN

-map . zoomToExtent {bounds) : }
~7eerires Geoserver
- </ head>

=|<hody onload="init{)">

—|<div id="map element" scyle='width:1400px; height:600px:"'>
=< dive

- </ body>

- </html> |
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< !DOCTYPE

<html:=
= <head>

<meta http-equiv="Content-Type" content="textfhtml; charset=utf-§":»

<meta name="viewport" content="width=device—-width, initial-scale=1.0, maximmm-=scale=1.0, u=ser-scalahle=0">
<meta name="apple-mohile—webh-app-capable" content="yes":>

<link rel="stylesheet" href="..jfthemejfdefaultfstyle.css" type="textfoss">

<link rel="stylesheet" href="style.css" type="textfoss":>

<acript sroc="..f0penLavers.js"></scripts

lon 100.569;

o 1 e AASNITNINUATRULAANIS
zoomw = 10.0;

map, layer: LLN ﬂ\‘mﬂ

Funcrion init{){
map = new CDpenlayers.Map{ 'map' )

layer = mew Openlayers.Layer.WMS({ "wawwnnisidnaseasaaina”,
"http:/ localhost : 80580 geoserver/weekl fmas", {lavers:' weekl:admin amphos hkk'} ) :
mwap .addLayer{ layer) :

map.setCenter{mew OpenlLayers.LonLat{lon, lat), =zoom): 'S
map.addControl{ rRew Openlavyers.Control.Layer3witcher(}) ) Bﬂ’)LLiin
}

</acripts Layer olala

</ head:>
<hody onload="init(}">

<hl id="title" }“ﬂﬂﬁ“ﬁﬂﬂﬂﬂﬂlﬁﬂﬂ‘l slnAassafsanae </ his Geose rve r

<div id="map" style='width:1400px; height:550px;'> </div>

<div id="docs">
< prRARI YA UL AAT silnAsa4 ﬂﬂﬂ.ﬂﬂﬂ “ﬂtiﬂgﬁlﬁﬂ‘ﬁ‘“‘ﬁﬂ TALTTHANAHIUA T £ ey
</ dive
</body>
</ htmls
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<html>
E <head>
<meta http-equiv="Content-Type" content="textfhtml; charset=utf-§">
<meta name="wviewport" content="width=device-width, initial-scale=1.0, maximm-scale=1.0, user-scalahle=0">
<meta nane="apple-mobile-web-app-capabhle" content="yes">
<link rel="stylesheet" href="..fthemefdefault f=style.css" type="text fcss">-
#£link rel="stylesheet" href="style.css" type="textjcss">
<£3cript src="..jfO0penLayers.j=s">=</script>
<3cript type="text fjavascript"'>-
var lon = 100, 569;
var lat = 13.746;
zoom = 10.0;
map, layer:

fimckion init{) {
wap = pew Openlayvers.Map( 'map');
wap.addControl {mew Openlayers.Control. LayerSwitcher(}):

layerl = mew Openlayers.Layer.WM3{ "waurtsaisdamsassizadiena’,
"http: fflocalhost: 8080/ /geoserver fueck]l sims™, {layers: 'admin amphoe bkk', transparent: Ezme),
{isBaselLaver: krue}

layerz = mew Openlayers.Layer. WMS( “weaasi’,
"http: Sflocalhost: 8080 /geoserver fueekl Aims", flayers: 'hydroloogy bkk wosgd'  transparent: brmel .
{wisibility: false}

wap.addLayers{[layerl,layeri]}):
wap.setCenter{mew Openlavers.Lonlat{lon, lat), =zoom);
wap.addControl{ mew Openlayers.Control.Layeriwitcher{) };
}
<iscripts
< /head-
<hody onload="init{)">
<hl id="title">waufwdaanamyaairsdansassindaas hls
<div id="map" style='width:1200px; height:530px; '> < dive

“div id="docs">

<prwdRstamaaasilaasassigdnaa wastaganEe A A g nMuRINAS ST
< fdin
< fhody=
L html=
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'DOCTYPE html>
<htiml>

<head>
<meta http-equiv="Content-Type" content="textfhtml:; charset=utf-&":
<wmeta name="viewport" content="width=device-width, initial-scale=1.0, maximum-scale=1.0, user-=scalahle=0">
<wmeta name="apple-mobile-web-app-capable" content="yves":>
<title>WHMS by SSBU</titlex
<link rel="stylesheet" href="..fthemejfdefanltfstyle.css" type="textfocss">
<link rel="stylesheet" href="..fthemefdefaultfgoogle.css" type="textfocss">
<link rel="stylesheet" href="style.css" type="textfoss":>
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<!—— this gmaps key generated for http:/fopenlayers.org/devy —-»
<script src='http:f/maps.qoogle .. com/maps?file=api&kamp ;r=2Gamp ;kev=AIlzaSyDmij0DuadalIBHc2FUGThXCpI9Ebr=]TsE ' »</scripts
<gcript sro="..flibfOpenLavers.js"></scripts>

=
[
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<script type="textfjavascript'></script>

[y
o

<gcript src="projd4jsflibfprojd4js-combined.js"></scripts
<gcript type="textfjavascript" src="projd4isflibfdefs/EP564326.js8"></scripts>
<gcript type="textfJdarvaScript" src="..f0penLayers?210f0penlavers.js" ></acript>

[ S
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<script type='"textfdaraScript":>

=
A

var mwap;

Function init{){

var minx = 100.32905253000007 ;
var miny = 13.4922544942000052 ;
var maxx = 100.935857203000003 ;
13.955269005000059
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var maxy =

var prjd3iZe = new COpenlavers.Projection{ "EFSG: 43267y
var pricoogle = mpewr Openlavers.Projection{"EFSG9009157) ;2

| S SN o]
-1 @™ n

var bounds = pew Openlayers.bounds{minx,miny,maxx , maxy) ;

o8]
ui]

bhounds.transform{prjd43zZ6, prjGoogle):

[N ]
]

option = {maxExtent:bounds, mwaxBesolution:'sauto' , units:'m',

Ly ]
(]

projection: priGoogle,displayProjection:prijd3zZe}:

o
=

map = mew Openlayers.Map('map =lement', option ):

Lo
i)

map.addControl{rew Openlayers.Control.LayerSwitcher{})):

L]
L]

var layerl = mew OpenlLayers.Layer.TH3( "vauwsnisdansoasadina”,
"http://localhost : 5080/ geaserver/veekl/wm=", {layers:'admin smphoe hkk' ,transparent: zrue},

LV Y
e

()
(=]

{isBaselayer: frue}, {visikhility:false}

L]
-1

¥

Ly ]
ui]

var layer? = mew Cpenlayers.Layer.WHs( "soilzadszdimia’,

o
[ ]

"http:/ S localhost :8080/ gecserver/ fdas ms", {layers:'Station BEK' ,transparent: true},

-
[y

{wizibilitvy: false}




layer3 = mew OpenLayers.Layer.WM3{ "wvauwsnisdansaaseannas”,
"http://localhost i 80580 geoserver/weekl/mis", {layers:'admin smphos bkk',transparent: true},

{wvizibility: false}

layerd = mew OpenLayers.Layer.WHs( 'wwdal’,
"http://localhost i 8080 geoserver/weekl/mas", {layers:'hydrology hkk wgsS4' . transparent: brue},

{visibhility: false}

ogmwap = Rewr Openlayers.Layer.Google(
"GZoogle Streets™,
{sphericallercator: Erue}

addLavyers( [layverl, layerz, layvers, laverd, gmap]) :
caddControl{newy Openlayers.Control.Layerdwitcher{{})):
- ZoomToExtent {bounds) ;}

-efseripty

- <i/head:

—|  «<hody onload="dinit{}">

<hl id="title" :-llﬂ“ﬁllﬁﬂﬂ‘ﬂﬂﬂl‘ﬂﬂﬂ'li‘ﬂﬂﬂﬂﬂﬂﬂﬂ"lmﬂ{f hlx

<div id="map element" style='width:1400px: height: 550px; ' > <fdive

<div id="docs">
<prudARIvaMYANI ARS8 sI8a NS ua:i'agal.iq#uﬁﬂ TANMHURTUAT P>
</ divs
</ hody>
LS htmls
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